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Qi Circle the correct option.

* Division is rtpC’a(edJ subiractiobl addition. l

12 toffees shared among 4 friends. Each one gets @ four
f—

b

toffees
C

The answer to division is

e —

d. »n13?3=5_13 {

remainder m

=]

= The symbhol of division is (:i X.
Q2. Da as directed. 3

Write the facts.

5 boys share 10 apples. The facts are:

10 25 2 apples.

2x5= 4__0\ apples.

b. Divide 18 by 3 ,

18 = 3i=
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SNOw as repeated subtraction.

, O Monkayy shared 12 man

goes equally. How Mmany mangoes did each monkey get?

Q3. Solve the word problems.

5 @irls share 25 lollipops equally. How many lollipops does each child ger?
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